2 MAT                                   Odčítanie s prechodom                      Mgr. Svetlana Zubrická
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13 - 4 =  9              Podľa tohto vzoru dokresli ostatné príklady a dopíš výsledok.
__________________________________________________________________________

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	



14 – 5 =  ______
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16 -  7 = ______

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	



16 -  8 = ______

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	



11 -  4 = ______

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	



12 -  6 = ______
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12 - 8 = _____


